1.
a)
Determine the x-intercept of y  log4 (x ( 3).

b)
Determine the y-intercept of y  log6 x ( 5.

2.
The point 
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 is on the graph of the logarithmic function f (x)  logc x. The point (k, 64) is on the graph of the inverse, y  f (1(x). Determine the value of k.

3.
The graph of y  log2 x has been transformed to y  a log2 (b(x  h)  k. Determine the values of a, b, h, and k for each set of transformations. Write the equation of the transformed function.
a)
a reflection in the y-axis and a translation 5 units right and 2 units down
b)
a vertical stretch by a factor of 
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 about the x-axis and a horizontal stretch about the y-axis by a factor of 4
c)
a vertical stretch about the x-axis by a factor of 
[image: image3.wmf]2

5

, a horizontal stretch about the y-axis by a factor of 
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, a reflection in the x-axis, and a translation of 7 units left and 2 units up
4.
Describe how the graph of each logarithmic function can be obtained from the graph of y  log7 x.

a)
y  0.25 log2 (2  x)  5


b)
2(y  7)  log2 (x  1)
5.
a)
Only a horizontal translation has been applied to the graph of y  log4 x so that the graph of the transformed image passes through the point (6, 2). Determine the equation of the transformed image.
b)
A vertical stretch is applied to the graph of y  log3 x so that the graph of the transformed image passes through the point (2, 12). Determine the equation of the transformed image.
6.  Complete the table.

	Function
	Domain
	Range
	Equation of Asymptote
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	y  log5 (x)  3
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	y  3 log2 (2(x  4))
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	y  4 log7 (x  2)  1


	
	
	

	y  5 log2 (3x  15)  7
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